[108-1355£ 3¢ BrFse 1092 £ H 5 2] 1080830

LR 3§ e
()5 - B BB P BB T3 = 4 i B TR AE R o

Q)% = HpP 19208 p gt 6:30~73072 % 8 § L x HEap g - = EBRE R e
)8 Z Hm e 110 9 P 5 Ar FHAEFEA AR o
N EEE ST

(D109 %324 % [HE - £t~ 474
@100 » £ {3 (4 & $1

ZE£-]507~9/10 §Fp o g - A AR o
#EL}% 80 ~/M 4 ¥ 3180 ~/3p 4 4 3 100 ~ )

E S LA e 11 PR ARY e (e ¥3)
B)E R 1 10/25~11/7 5 B E 4848 & 5 109/1/17~18 3 & - 109/2/24 & % = 4§
3. B 108 B & B4z gg%%ﬂ ¥ [FL KERZ LS &)

(DFFfpd T3 et s ddpd TEY
Q% * 3-8 1200 ~+170 ~ ok P ¥k

#JE] ﬁ'{ 1 ?ﬂ. 27TJ. 37TJ. 47fJ. S#J.
L% 370 ~ | 540~ | 710~ |880~ |1050 ~
B)F- % 1 EX THERE AE F- X T EE RB PR
AR EREF LT RFLSE? S8 (:£:37 44 %)
(D2 A RFpER I8FEREEE RS - (3o s /2 /EET T 1)
QF - F- AREEFFR LB LT L T (G117 5 L sl e it o)

(3 &rp'e‘vﬁ*ﬁj’*a}iﬁ’ BV RBFIHL; £ 2 0 U EXERTEL S Lo )
5. BAY G 7 F"’:fg:}”‘*w (B &)
(D% - FEf? PirE R F7 LA LAPP L& blde: Fdep 87 EET TS
(2) 34 FpIFL P Bt B~
[~ GFERF 2 -pd gt ] 2 e A n R Te Bfp o
)k 5 A2 3F b5 ~
Z.ﬂp+‘< IR R A g i [] 298 ety $£0 Jfo B*

==y 08 # ¥ b https:/www.cac.edu.tw/applyl08/index.php 109 & 4 ¥ -2 14 11 7 4= 2% chk N § 5 % )
__Bl & #8748 65 1%
xzamww@.a&f\
(o LEV LI YN T R TP PR LS
7 48 A A i *100NEW :
- S AR A
o BB B S22

PRRFE R AR by

2,
&7
v&]hn~.

6. % ¥ IS s TELC #4 & X318
(1) a‘.:féf;/’%m BRERYFE F-X 10/19(" ) H = 12/14( ) o TR ASFP AR FHF O/3(= )k o
Q) m & * MP33 B @ & 3 B4EF & N st AN B BB
(3)1085 Fraw - eiaft i A4 W) 5 B BBk ~ B 4 ¢ 5555k ~ 4p A b4k o



https://www.cac.edu.tw/apply108/index.php

